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(Science Focus) Maths Word Problems — KS1 — Year 2

1. A school collected 34 bottles for recycling in the first week and 28
bottles in the second week. How many bottles did they collect in
total?

2. A garden had 65 flowers. If 23 flowers were picked for a school
project, how many flowers are left in the garden?

3. A volunteer plants 6 trees each day. How many trees will they plant
in 5 days?

4. A bee sanctuary has 7 sections. If each section has 4 beehives, how
many beehives are there in total?

5. A park has 20 trees, and "2 of them are fruit trees. How many fruit
trees are there?

6. A path through the park is 30 metres long. If you walk there and
back, how far will you walk in total?

7. A volunteer picks up 2 bottles every minute. How many bottles will
they pick up in 6 minutes?

8. A school spends £15 each month on planting trees. How much will
they spend in 4 months?

9. It takes 10 minutes to water the plants in one part of the garden.
How long will it take to water 3 parts of the garden?

10. A solar panel is a rectangle with two sides of 6 metres and two
sides of 3 metres. How many sides does the rectangle have in total?
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1. 34 + 28 = 62 bottles.

2. 65 - 23 =42 flowers.

3. 6 x 5 =30 trees.

4. 7 x 4 = 28 beehives.

5. 1/2 x 20 = 10 fruit trees.
6. 30 + 30 = 60 metres.

7. 2 x 6 = 12 bottles.

8. £15 x 4 = £60.

9. 10 x 3 = 30 minutes.

10. A rectangle has 4 sides.
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